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Question Number : 1 Question Id : 953357523753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development of individual child-

Options :

1. can be predicted accurately and absolutely by referring to the developmental milestones.

2. cannot be predicted at all.

3. can be predicted somewhat but all children develop at different rates.

4. is disorderly and discontinuous.

Question Number : 1 Question Id : 953357523753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357523754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?

Options :

1. Development is not sequential.

2. Development is disorderly.

3. Development is a continuous process.

4. Development milestones are not influenced by the cultural context.

Question Number : 2 Question Id : 953357523754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357523755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Children learns the knowledge, skills, values, customs of the society by-

(1) neighbourhood
(ii) religion
(iii) school

(iv) peer group
Options :

1. (1) (iii)

2. (1) (iv)

3. (1) (iii) (iv)

4. (1) (ii) (iii) (iv)

Question Number : 3 Question Id : 953357523755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357523756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Jean Piaget’s theory, adaptation involves two complementary activities —

Options :

1. Accommodation and Assimilation

2. Equilibration and Organization

3. Accommodation and Equilibration

4. Assimilation and Organization

Question Number : 4 Question Id : 953357523756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357523757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development do children gain the ability to arrange items along qualitative
dimensions such as length and weight, yet have difficult in dealing with mental operations that involve abstract concepts?

Options :

1. Sensori-motor Stage

2. Pre-operational Stage

3. Concrete Operational Stage
4. Formal Operational Stage



Question Number : 5 Question Id : 953357523757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357523758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the theory proposed by Lev Vygotsky private speech —

Options :

1. helps the child to regulate her thinking.

2. is a hinderance in the child’s thinking.

3. shows ego-centrism of the child.

4. decreases as the child is presented with more challenging tasks.

Question Number : 6 Question Id : 953357523758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357523759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, teachers can assist in learning by —

Options :

1. providing appropriate rewards.

2. giving strict punishment.

3. changing the nature and quality of support.

4. making them copy all the answers from a blackboard.

Question Number : 7 Question Id : 953357523759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357523760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pooja tells her friend that we should follow class rules else the teacher will not allow us to play outside. Pooja is at which stage of moral
development according to Lawrence Kohlberg?

Options :

1. Obedience and Punishment Oriented

2. Good boy-good girl orientation

3. Authority and social-order maintaining orientation
4. Universal Ethical Principles orientation

Question Number : 8 Question Id : 953357523760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357523761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct as per Howard Gardner?

Options :

1. Intelligence is a fixed and stable trait

2. Intelligence can be nurtured and grown

3. Intelligence is of several kinds rather than dominated by a general factor

4. Intelligence cannot be tied to a single domain

Question Number : 9 Question Id : 953357523761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357523762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In child-centred education —

Options :

1. The teacher does not play any role

2. The teacher play active role while the students are passive

3. The students are active while the teacher is passive

4. Teacher and students are both active

Question Number : 10 Question Id : 953357523762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357523763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): In the classrooms boys have the potential to perform much better than the girls in Mathematics and Science.

Reason (R): Mathematical reasoning and scientific ability come naturally to boys than girls.

Choose the correct options.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 11 Question Id : 953357523763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357523764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 emphasizes —

Options :

1. Flexibility of the curriculum

2. Standardization of the curriculum

3. De-contextualization of textbooks

4. Rote memorization of the textbooks

Question Number : 12 Question Id : 953357523764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357523765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The focus assessment should be on —

Options :

1. Reflecting what all the learners cannot do

2. Specifying the performance of the learners in comparison to the other in the class

3. Labelling the child into a normative category

4. Detailing what and how the learner has been learning

Question Number : 13 Question Id : 953357523765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357523766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterise a socio-constructivist classroom that caters to needs of individual children?

Options :

1. Fixed seating arrangement

2. Teacher giving only instructions and expecting the children to be totally obedient.

3. Memorization of facts by the children

4. Children discussing while working in groups

Question Number : 14 Question Id : 953357523766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357523767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an appropriate question to assess critical thinking in the classroom?

Options :

1. Add 325 + 48.

2. In which year was the child marriage restrain act passed?

3. Define the term respiration.

4. Analyze the various reason of pollution in your city and think of various measures to reduce the pollution.

Question Number : 15 Question Id : 953357523767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357523768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following depicts a culture of inclusion in schools?

Options :

1. Differentiated assessments are promoted to meet students’ needs.

2. Diversity and varied perspectives are discouraged.

3. Only few students feels welcomed and valued in the school.

4. Students are divided into fixed groups as per their abilities.

Question Number : 16 Question Id : 953357523768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357523769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a class comprising of culturally diverse students, which of the following should be avoided by a teacher?

Options :

1. Bringing examples from diverse cultures in the discussion

2. Developing curriculum and teaching style suitable to dominant culture

3. Encouraging students to share unique features of their culture

4. Promoting a culture of respect and acceptance among students

Question Number : 17 Question Id : 953357523769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357523770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following directly affects learner’s ability to read, interpret and understand letter and words?

Options :

1. Dyscalculia

2. Dysgraphia

3. Dyslexia

4. Dysphasia

Question Number : 18 Question Id : 953357523770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357523771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure successful inclusion of students with locomotor disability, it is important to avoid :

Options :

1. Allocating classrooms, library and labs on the top floor

2. Levelling of all areas of school with ramps and lifts

3. Making adaptions as per students’ requirements

4. Reasonable accommodation in seating arrangement

Question Number : 19 Question Id : 953357523771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357523772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an identifying characteristic of student with ‘creativity’?

Options :

1. Higher order problem solving

2. Convergent thinking

3. Novel Innovation

4. Strong sense of curiosity

Question Number : 20 Question Id : 953357523772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357523773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate long-term remembrance of a particular content, which of the following strategy should be avoided by a teacher?

Options :
1. Applying mnemonics

2. Making Organizational charts
3. Presenting Disjointed words
4. Using imagery

Question Number : 21 Question Id : 953357523773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357523774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learn better when material to be learnt is

Options :

1. complex and extensive.

2. connected with existing knowledge.
3. disorderly and unorganized.
4. disparate to their socio-culture context.

Question Number : 22 Question Id : 953357523774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357523775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following contributes to students’ failure in academic achievements?

Options :

1. Experiential learning

2. Decontextualized curriculum

3. Inclusive philosophy

4. Lerner-centered pedagogy

Question Number : 23 Question Id : 953357523775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357523776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

As per National curriculum framework (2005), children —
Options :

1. are passive recipients of content delivered by teacher.
2. don't have the capacity to regulate their learning.

3. learn best through rote memorization.

4. play active role in construction of knowledge.

Question Number : 24 Question Id : 953357523776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357523777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to teach a concept, a teacher should avoid using:

Options :

1. Exemplars related to the concept

2. Instances discrete to the concept

3. Non-exemplars related to the concept

4. Prototypes prevalent in their culture

Question Number : 25 Question Id : 953357523777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357523778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Knowledge or awareness of self as knower' depicts:

Options :

1. Metacognition

2. Misconception



3. Mnemonics
4. Motivation

Question Number : 26 Question Id : 953357523778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357523779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identifying the difficulty; setting the goal; exploring possible solution and consequences; acting accordingly and evaluate the outcomes are
important steps involved in the process of —

Options :

1. Attribution

2. Imitation

3. Problem-solving
4. Passive attention

Question Number : 27 Question Id : 953357523779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357523780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Exploring and discussing misconception in meaningful in teaching-learning process.

Reason (R): It gives students opportunities to think about the reasons behind those misconception and it is helpful in leading deeper
investigations.

Choose the correct option.
Options :
1. Both (A) and (R) are true and (R) is the correct explanation of (A).



2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.
4. Both (A) and (R) are false.

Question Number : 28 Question Id : 953357523780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357523781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students are likely to feel boredom when:

Options :

1. activity is not valued

2. activity is valued

3. success is achieved

4. success is desired

Question Number : 29 Question Id : 953357523781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357523782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an inappropriate way of using feedback as a motivator?

Options :

1. Feedback concentrated on the ability of the student

2. Feedback focused on the process of an activity

3. Feedback in descriptive style related to students' work

4. Feedback without referring to comparisons with other students



Question Number : 30 Question Id : 953357523782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357523783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the value of P, if

0.007

=0.01

Options :
1. 0.0007

5 0.07

3. 0.7

Question Number : 31 Question Id : 953357523783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5 0.07
3 0.7

4. 7

Question Number : 32 Question Id : 953357523784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is correct?
Options :
;. 1 km=100km, | m=10cm, | cm= 10 mm

2 1km=1000m, l m=100¢cm, 1 cm= 100 mm
3 lkm=1000m. lm=10cm. 1l cm= 10 mm

4 lkm=1000m, | m=100¢cm, 1 cm= 10 mm

Question Number : 32 Question Id : 953357523784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frefafes 5 o - =8 22

Options :

L lkm=100m, I m=10cm, 1 cm= 10 mm

' Il km=1000m, Il m=100cm, 1 cm =100 mm

2
3. lkm=1000m, Im=10cm, | cm =10 mm
4 lkm=1000m, Il m=100cm, 1 cm =10 mm

Question Number : 33 Question Id : 953357523785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Observe the pattern and select appropriate numbers from the given options to fill in the blanks:
1+2+3+4=10
2+3+4+5=14

Options :

1. Sand 16
> 4and 16
3 Sand I8

4 4and 18



Question Number : 33 Question Id : 953357523785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1+2+3+4=10

24+3+4+5 =14
3+4+  +6=__
4+5+6+7=22

Options :

| 5316
, 4316
; S5TIS

4 4318

Question Number : 34 Question Id : 953357523786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The table below shows number of tigers in a National Park in different years:

Year Number of tigers
2014 173
2015 156
2016 140
2017 125
Select the correct statement:

Options :

| The number of tigers increased every year.

. With respect to previous year, more number of tigers decreased in 2015 in comparison to 2016.

3 With respect to previous yvear, more number of tigers decreased in 2017 in comparison to 2015,

4 With respect to previous years, equal number of tigers decreased in 2016 and 2017.

Question Number : 34 Question Id : 953357523786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357523787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kareem went to purchase flowers and he gave four coins of 32, two notes of 220 and three notes of 2100 to the
shopkeeper. If the price of flowers was 335, how much money did he get back?

Options :
1. %21

5 212

3 %15

Question Number : 35 Question Id : 953357523787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L T21

, %12

5 Z15



Question Number : 36 Question Id : 953357523788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A scalene triangle has:
Options :
| three equal sides

5 two equal sides
5 three unequal sides

4. two equal angles

Question Number : 36 Question Id : 953357523788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 953357523789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Some persons are standing in a line at a train ticket counter. Ameena is 14™ from both ends. How many persons are
there in the line?

Options :

1. 26

Question Number : 37 Question Id : 953357523789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 T I W F oAl e WS # ST T UM A S 14 91 ) 39 T I FA b S WS
Options :

1. 26




Question Number : 38 Question Id : 953357523790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini wants to make necklaces each containing 18 sea shells. She collected 200 sea shells. out of which 3 were broken.
Which of the following is correct for the given situation?

Options :
1. Malini can make 11 necklaces with the sea shells

, Malini needs one more sea shell to complete 11 necklaces

3. Malini can make 10 necklaces and she would left with 15 sea shells

4. Malini can make 12 necklaces with the sea shells

Question Number : 38 Question Id : 953357523790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 953357523791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many triangular faces are there in the net of a triangular pyramid?
Options :
1. Four

> Five
3. Six

4 Eight



Question Number : 39 Question Id : 953357523791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR ffive ¥ 2 1 R B were B
Options :
s

2. :I‘ 2
3. B

4, S

Question Number : 40 Question Id : 953357523792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vasu has a bucket that can hold 3'? — litres of milk. He wants to fill small bottles of capacity 250 mL with this milk to
sell it in the market. How many bottles can he fill with this milk?

Options :
1. 103

5 118
3 125

4 149

Question Number : 40 Question Id : 953357523792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
. 103

, 118
5 125

4 149

Question Number : 41 Question Id : 953357523793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between Seema and Siraj’s houses is 666.66 metres. Which statement about the values of the digits in the
distance. in metres, between their houses is true?

Options :
| The value of 6 in the hundreds place is 10 times of the value of the 6 in the ones place.



5 The value of 6 in the hundredths place is % the value of the 6 in the ones place.
3 The value of 6 in the ones place is % the value of 6 in the tens place.

A The value of 6 in the tenths place is ﬁ the value of the 6 in the hundreds place.

Question Number : 41 Question Id : 953357523793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 953357523794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of lines of symmetry in the letter H is
Options :
1. 0

B

Question Number : 42 Question Id : 953357523794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AL H H HHa T@re sl e E —
Options :
1. 0

(o]



4 4

Question Number : 43 Question Id : 953357523795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Three friends converted the time of 24 hours clock in that of 12 hour clock as follows:

Name of the Time in 24 hour clock Time in 12 hour clock
children
Cheeku 23:45 11:45 pm
Bittu 16:30 04:30 am
Pinki 19:28 07:28 pm
Who has shown incorrect time in 12 hour clock?
Options :

1 Cheeku only

, Bittu only

5 Pinki only

4. Cheelku and Pinki

Question Number : 43 Question Id : 953357523795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 953357523796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sonam’s water bottle holds one litre of water. She drank 275mL of water and her friend Naina drank 250mL. how much
water is left in her bottle?



Options :
1. 425 mL

7. 475 mL

Question Number : 44 Question Id : 953357523796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH T AT 3 S T UE e U7 AT 2] 56 275 mL T TR S 39T & 99T 5 250 mL 9T i
Araer J o7e Torm et s=r 20

Options :
1. 425 mL
5 475 mL

3 525 mL

4. 375 mL

Question Number : 45 Question Id : 953357523797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Saurabh is shifting his house. He loaded things on a horse-cart who cannot pull a load heavier than 300kg. He loaded
the following weights on the horse-cart:

Things loaded Weight
A sack of wheat 150kg
A sack of rice 55kg
Almirah o8kg
Water tank 75kg
Utensils 20kg

Which thing should be removed so that the weight of the load is equal to 300 kg?
Options :

1. Water tank

> Asack of rice

3. Almirah

4. Utensils

Question Number : 45 Question Id : 953357523797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357523798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are important processes in geometry?
(a) Visualization
(b) Transposition
(c) Transformation

Choose the correct option.

Options :

L {a)and (c)

5 Only (b)

3. (b)and (c)

4 Only (a)

Question Number : 46 Question Id : 953357523798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
(a) R (c)

1

N Fa= (b)

5 (b) 3R (c)

A T (a)

Question Number : 47 Question Id : 953357523799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are most appropriate for games in the context of teaching-learning of mathematics?
(a) We cannot perform assessment of a child while engaging in mathematical games
(b)Mathematical games provide experiences of joyful learning in mathematics
(c) Mathematical games are open-ended play

Choose the correct option.

Options :
L (@) and (¢)

, Only (b)

3 (a) and (b)

4 Only (a)

Question Number : 47 Question Id : 953357523799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 48 Question Id : 953357523800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, which of the following aims of teaching mathematics is least
appropriate for primary classes?

Options :

| Enhancing spatial understanding

, Nurturing interest in mathematics

5 Connecting real life experiences to mathematics

4 Developing expertise of algebraic thinking

Question Number : 48 Question Id : 953357523800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357523801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of geometrical reasoning levels as given by Van Hieles?

Options :
| Experience dependent

, Developmental

3 Sequential

4 Age dependent

Question Number : 49 Question Id : 953357523801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357523802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following concepts CANNOT be taught using Dienes blocks?
Options :
Probability

1
> Place value

3. Addition of numbers

Multiplication of one digit numbers

~

Question Number : 50 Question Id : 953357523802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357523803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are related to pre-number concept formation in children?
(a) One to one correspondence
(b)Hierarchical inclusion
(c) Measurement
Choose the correct option.
Options :
L Only (a)

, (a) and (¢)

3 (@) and (b)



4 (b)and (c)

Question Number : 51 Question Id : 953357523803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357523804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The classroom-based assessment in mathematics should:
(a) consider and respect the unique qualities, experience and expertise of all the students
(b) be presented in focused isolated manner different from mathematics instructions
(c) reflect on what is being revealed about thinking process of students

Choose the correct option.

Options :

| Only (a)

5 (b)and (c)
3 (a) and (b)

4 (a)and (c)

Question Number : 52 Question Id : 953357523804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357523805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true about the nature of mathematics?

(a) Mathematics can be understood as science of patterns

(b)Mathematics explores possible relationships among abstractions

(c) As mathematics is based on logic, there is a very limited space for creativity in mathematics.
Choose the correct option.

Options :
1 (@) and (b)

5 Only (¢)

3. (b)and (c)

4 Only (a)

Question Number : 53 Question Id : 953357523805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 953357523806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Remedial teaching is most helptul for:
Options :
| Students appearing in competitive exams

, Recapitulating the lesson

3 Teaching problem solving

4.
Addressing the difficulties students are facing in understanding mathematical concepts and improve their performance

Question Number : 54 Question Id : 953357523806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357523807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is least appropriate in the context of spatial understanding of children?
Options :
| Primary school children cannot make logical transitive inferences (X>Y, Y>Z, therefore X>Z).

, Primary school children can extend the concept of shapes in a real life situation.

3 Children can understand the logic of measurement in their early school years.

4 Children’s pre-school knowledge of space is relational

Question Number : 55 Question Id : 953357523807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357523808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cannot be the methods of formative assessment in mathematics?

Options :
| Project

, Quiz
3. Journal entries

4. Term-end examination

Question Number : 56 Question Id : 953357523808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 57 Question Id : 953357523809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Majority of students in a class say 60 is equal 3115.
+5

L]

Revisiting which of the following concepts will be most appropriate to
remediate the error?

Options :
| Addition with regrouping

, Forward counting



3 Addition of 3 digit numbers

4 One to one COl‘l‘ESpOﬂdeﬂCE‘

Question Number : 57 Question Id : 953357523809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357523810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are true for errors in mathematics?
(a) If a student is making a lot of errors in mathematics, this means that he lacks ability to do mathematics.
(b)Errors provide insights about misconceptions in mathematics
(c) Teacher should provide sufficiently challenging tasks in which students might make errors.
Choose the correct option.
Options :
(@) and (b)

5 Only (a)

3. (b)and (c)

4 (a)and (c)

Question Number : 58 Question Id : 953357523810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 953357523811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is least related with problem-solving in mathematics according to George Polya?
Options :
| Understanding the problem

, Making a strategy to solve the problem
5 Looking for a single obvious solution to the problem

4 Interpreting the answer

Question Number : 59 Question Id : 953357523811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 953357523812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A primary grade mathematics teacher designs following activities to introduce the concept of “Fractions™.
(a) Writing different types of fractions on blackboard and explaining its various attributes.
(b) Using symmetrical rectangular strips and circular cut-outs for paper folding activities

d i 5 : g 5 T 33
(c) Using various pictures to depict fractions like 5 efc.
Which of the following represents the most appropriate sequence for above activities to be used by the teacher?

Options :
| b.c.a

5 a,b,c
3 c.a. b

4 .G, b

Question Number : 60 Question Id : 953357523812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 953357523813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"Rajmah-Chawal (rice) and Bhature-Chholey" is the most liked food of the common people of

Options :

1. Chhatisgarh

2. Gujarat

3. Punjab

4. Uttarakhand

Question Number : 61 Question Id : 953357523813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

, TRV

Question Number : 62 Question Id : 953357523814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The date on which the earthquake struck in Bhuj is 2
Options :

1. Gujarat

2. Maharashtra

3. Uttarakhand

4. Jammu and Kashmir

6 J. anuary 2001. Bhuyj is in which state?

Question Number : 62 Question Id : 953357523814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 953357523815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following states most of the houses in villages are found to be almost 3-3.5m above the ground and made on the strong
bamboo pillers. The roof are made sloping and the floor and walls are made of wood.

Options :
1. Andhra Pradesh



2. Assam
3. Odisha
4. Kerala

Question Number : 63 Question Id : 953357523815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357523816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi station and Kanpur railway station is 432 km. A train starts from Kanpur railway station on 16t
December 2021 at 21:45 hrs and reaches at New Delhi railway station on 17" December 2021 at 05:45 hrs. The average speed of the train
during this journey is

Options :

1. 54 m/s

2.27 m/s

3.20 m/s

4. 15 m/s

Question Number : 64 Question Id : 953357523816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 34 m/s

7 27 m/s
3 20m/s

4. 15 m/s

Question Number : 65 Question Id : 953357523817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the Galconda Map printed in class V Environmental Studies NCERT Textbook, its scale is given as- Scale 1cm = 110m. If the
measured distance on the map between Fateh Darwaja and Patanncheru Darwaja is 15.5 cm. The minimum actual distance between these
two gates is

Options :

1. 16.05 km



2.17.05 km
3. 1.705 km
4.1.605 km

Question Number : 65 Question Id : 953357523817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 16.05 km

> 17.05 km
3 1.705 km

4. 1.605 km

Question Number : 66 Question Id : 953357523818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mukhtapur is a village of Pochampalli district. Most of the families of this district are weavers and the cloth they weave is called
Pochampalli. Pochampalli is a part of

Options :

1. Karnataka

2. Andhra Pradesh
3. Telangana

4, Tamil Nadu

Question Number : 66 Question Id : 953357523818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357523819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following cities, the trees of only one kind (date palms) are seen?

Options :

1. Kandahar

2. Karachi



3. Berlin
4. Abu Dhabi

Question Number : 67 Question Id : 953357523819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357523820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhopal is due east of Gandhi Nagar and Bangalore is due south of Bhopal. The direction of Gandhi Nagar with respect to Bangalore is
Options :

1. South-East

2. North-East

3. North-West

4. South-West

Question Number : 68 Question Id : 953357523820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T rﬁuﬂm%&muﬁﬁ%ﬁ%ﬁﬂq& TTITe 3 21 ST 5 2 %@E%qﬁ&?ﬁ%ﬂmﬁﬁ%m%—
Options :
1. g

, ERii

, I-ArEH

, Sreuratem

Question Number : 69 Question Id : 953357523821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following about Brass

Options :

1. It is an element

2. It is a compound

3. It is an alloy of copper and zinc

4. It is a homogeneous mixture of copper and tin

Question Number : 69 Question Id : 953357523821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357523822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a state in our country where the people grow eatables such as coconut and tapioca in their courtyard and prepare their tasty food
using the two. This State is

Options :

1. Karnataka
2. Kerala

3. Tamil Nadu
4. Telangana

Question Number : 70 Question Id : 953357523822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357523823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Changpas are tribal living on the mountains. They use big cone shaped tents which protect the changpas from extreme cold. The design of
these tents is

Options :

1. more than a thousang years old
2. about 800 years old

3. about 100 years old

4. very recent/modern

Question Number : 71 Question Id : 953357523823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357523824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In our country there are

Options :

1. 30 states

2. 28 states

3. 27 states

4. 26 states

Question Number : 72 Question Id : 953357523824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 73 Question Id : 953357523825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states all having their coasts on the Bay of Bengal.

Options :

1. Odisha, Andhra Pradesh, Tamil Nadu

2. West Bengal, Tamil Nadu, Kerala

3. Maharashtra, Andhra Pradesh, Telangana

4. Kerala, Karnataka, Telangana

Question Number : 73 Question Id : 953357523825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357523826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Cheraw’ is the folk dance of

Options :

1. Odisha

2. Assam

3. Chhatisgarh

4. Mizoram

Question Number : 74 Question Id : 953357523826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 75 Question Id : 953357523827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is an area in our country which is high, dry and flat and is known as cold desert. Here the rainfall is very little. Here there are high
snowcapped mountains and a cold flat ground. This area may be a part of

Options :

1. Jammu and Kashmir
2. Leh and Ladakh

3. Himachal Pradesh
4. Meghalaya

Question Number : 75 Question Id : 953357523827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357523828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The nature of Environmental Studies at primary level is

Options :

1. Supplementary

2. Single subject

3. Integrated

4. Textbook based

Question Number : 76 Question Id : 953357523828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357523829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the given statements are recommendations of NCF 2005 for EVS learning?

A. having sharp boundaries among school, home and the community for the learning
B. discourage rote learning

C. departure from bookish learning

D. children's life at school must be linked to their life outside the school.

Choose the correct option.
Options :

1. A and B only

2. A and C only
3.A,Band C

4.B,Cand D

Question Number : 77 Question Id : 953357523829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357523830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following can be the objectives of Environmental Studies at primary level?

A. to nurture the curiosity and creativity of the child particularly in relation to the natural environment.
B. to develop an awareness about environmental issues.

C. to engage the child in exploratory and hands-on activities.

D. to treat children as receivers of a fixed body of knowledge.

Choose the correct option.
Options :

1.A,Cand D

2.A,Band C

3.B,Cand D

4. C and D only

Question Number : 78 Question Id : 953357523830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TE U UETeRUT STEg9 3 3299 FAteiigs § & HIH-5T & §5ar 22
A. TorTe =0 § ToRTeeh USTaT o W § S AT ST ST ST T T )
B. UHTEROT % &I o AT H ST e |
C. =1 1 GISUYT SR SATFET Tt 3 SIHe FT
D. S==I1 I 9 % e [H14d (o6 % TiiHera o ®9 5 &1
HET T i T e —
Options :
| A C¥RD

, A,B#RC



.B,Cafrr_D

3

4 FATCHALD

Question Number : 79 Question Id : 953357523831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true in relation to the pedagogy of EVS at primary level?

Options :

1. It is a child centered

2. It is bookish

3. It involves teacher as instructor

4. It focuses retrieval practices

Question Number : 79 Question Id : 953357523831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357523832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teaching learning process of EVS at primary level is challenging for teachers

Options :

1. for incalculating creativity and initiative for children.

2. for rote learning by children.

3. for describing concepts.

4. for using EVS textbooks as sole resource for learning.

Question Number : 80 Question Id : 953357523832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357523833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following can maximally facilitate learning of EVS?

Options :

1. Reference books

2. Stories and Narratives

3. Text book examination

4. Descriptions

Question Number : 81 Question Id : 953357523833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357523834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the theme of the syllabus of EVS at primary level?

Options :

1. Family and friends

2. Means of transport

3. Conservation of water

4. Our nature

Question Number : 82 Question Id : 953357523834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 83 Question Id : 953357523835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In EVS learning, activities are conducted to provide experience for learning by doing



A. to develop psychomotor skills
B. to develop manipulative skill
C. to give hands on experience
D. to develop remembering skill

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.Aand C

4.Band D

Question Number : 83 Question Id : 953357523835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357523836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Meaningful learning of EVS can be given to children if

A. activities are conducted.

B. activities are conducted followed by discussion.

C. activities are conducted by the teacher according to the local contexts of the child.
D. group works designed by the children are promoted by the teacher.

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.A,Cand D

4. A,Band D

Question Number : 84 Question Id : 953357523836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357523837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Issues of theme "Plants" can be meaningful for the students if

Options :

1. theme based worksheets are given to students.

2. field trips are conducted around the issues.

3. demonstrations are given by teachers.

4. invited lectures followed by group work are organized.

Question Number : 85 Question Id : 953357523837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357523838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Besides EVS textbooks, which of the following may be highly useful resources for EVS learning?

A. Newspaper

B. Surveys



C. Twitter

D. Community members
Options :

1.A,Band D
2.B,Cand D
3.A,Cand D

4. A, B and D.

Question Number : 86 Question Id : 953357523838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357523839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Socio-cultural issues related to "Food" Theme can be effectively learnt

A. through community members

B. if surveys are conducted

C. through field trip

D. if slogans are prepared by the children

Choose the correct option.
Options :

1.A,Band C

2.A,Cand D

3.B,Cand D

4. A,Band D

Question Number : 87 Question Id : 953357523839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357523840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Group works are promoted for learning of EVS. The most appropriate reasons are

A. they promote peer learning

B. they improve social interaction among children

C. they promote collaboration among children

D. they are the only effective strategy for learning of EVS

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.B,Cand D

4. A,CandD

Question Number : 88 Question Id : 953357523840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357523841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In assessment, self-assessment is

Options :

1. assessment for learning

2. assessment of learning

3. assessment as learning

4. evaluation through learning

Question Number : 89 Question Id : 953357523841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357523842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The information recorded in teacher's diary is used by the teacher

Options :

1. for reviewing and modify the teaching-learning strategies.

2. for developing progress report of the child's learning.

3. for recording the evidence for the child's learning.

4. for keeping the record of school.

Question Number : 90 Question Id : 953357523842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 953357523851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 953357523852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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ST, T A FTAT, =0T R I, I AR Ga, TR A A
T 1 37 &1 T Tt =i % ot o o A B 2 e
ST B HAT TIAT 2| WIS AT IASAT 2 S T o6 ATE| T 3 A1 W
G &, ST T T STHETR B S 8 R B ST gree
2, 3 I G ST T 2| T 1 FE FAT A © A GE

e AT AT TR

Sub questions

Question Number : 91 Question Id : 953357523844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= 4 faame w@e & e e =
1. S

. B
3. WA
4. i

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 92 Question Id : 953357523845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



: aﬁ%a&&mﬁmmi
. U 71T F A T TH a9
3. gﬁﬁ%‘m‘—mﬁmmi

4. oTrEeR T U
Options :
1.1
2.2

3.3
4.4

fa—

(]

Question Number : 93 Question Id : 953357523846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS 3T AT BT S T 374 B
. [ -~ 0~ Y . -
|. TS T % T 781 Srear 2|
2. TS H T S A
3. WUY ¥ AR @A 2
4. |t % ST o @ 2
Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 953357523847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forat 75 T 3 F e oo B, A g 6 o ae
TR R T ATEE E —
g a e

. Tt & a2 A

3. Tt 5 g & g B 2

4. Tt 5 3@ ¥ o 4 T o 3

Options :
1.1
2.2
3.3
4.4

[a—

(]

Question Number : 95 Question Id : 953357523848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frferfigs o & F-wr v | e 22
|. fEmT=
2. AT-ISTET
3. TRTETET

4. TE-TZ
Options :
1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 953357523849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

F-TT TS ST T8 29
. TR IR
2. gﬁaﬁtgzﬁ
3. oT=T AT
4. TeITT AR AT
Options :
1.1
2.2

3.3
4.4

Question Number : 97 Question Id : 953357523850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“UF" 7768 T AT & —
1. TeTTle

. F=

3. IeUH

4. 3=

Options :
1.1
2.2
3.3
4.4

]

Question Number : 98 Question Id : 953357523851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

uuiw%%gwwwwfv\m%—
. T W s o
: agﬁemﬁawrrr@ml
3. =9 T faeer v
4. T%eAqr O3 AT
Options :
1.1
2.2

3.3
4.4

—

(]

Question Number : 99 Question Id : 953357523852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ST U T ATEEH B ST 2 I E —
|. 3TaTTe i o F
2. TEHET 3 WY WA S ST B |
3. TR $HIAT ST FHATOr ST
4. FEATE! faerre i S=TEat w S

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 95335729715
Question Shuffling Allowed : Yes

Question Id : 953357523853 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

+frer faw T warieT T ST Ufen T O T w4t % IR o o we
=g =1 === e

TE FETHNT S AT, T et # 7=

TIOT 7 IS R o wH I H 9 T,

T T %1 ATl B9 e O & )

g B, 29 TS o £ 5 @ "ew o

ST e & FE T & T FO AT o

Sub questions

Question Number : 100 Question Id : 953357523854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 o1 faefoat i o are i Toher T2t 1 mE
1. TOT

;

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357523855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



a%w%%qm%mmﬁr%%ﬁﬁimwwﬁ
T O s T T 2
1. T3-UNER

E\_.'I
£l ?

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357523856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ZE HF T UfE W E —
2. T S RS
3. S8l oA g
4. I T TE

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357523857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ToerT ST SR & T B S ST —
. ST
2. T 2|
3. TN A
4. T R
Options :
1.1
2.2

3.3
4.4

Question Number : 104 Question Id : 953357523858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
+ E ™, "
HET TTeg H Toh Todd onE U 71es o]
1. HEHF
2. HHEHF

"~

3. HETEF
4. |ETE
Options :
1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 953357523859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEreTooT 5T FT TR E
. 99%
2. Taest
3. O

4. 931
Options :
1.1
2.2
3.3
4.4

Question Id : 953357523853 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

et fam T TRt S S Ut T I T W4T 3 3 o o w9
Torrea =1 == e

= FETHET ST 9T, T T 2 7=

TOT 7 I R T I § e T,

ST T i aTE! B e O a )

e B, 7 A o E S EEr |

ST T 2 9E TET & A Fo 0T (60

Sub questions

Question Number : 100 Question Id : 953357523854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

i 3 TR Taratorat i T e st eher TEt 7 778 22
1. Tor

ﬁ

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357523855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
o ¥ T Y168 o Hea § ol &1 srgem
AT W = R T E

I. J3-TRER

E\_.'I
£l 2

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357523856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR T T R T IEE —
1. 31 9 ga 9
R
2. 3eh S B S
3. =71 ST
4. IR T IE= 1
Options :
1.1
2.2

3.3
4.4

Question Number : 103 Question Id : 953357523857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IEREAR=URCIER: IR R e b A C o e G
. ST
2. T 2
3. ST R
4. ST R
Options :
1.1
2.2

3.3
4.4

fa—

Question Number : 104 Question Id : 953357523858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FE 768 H “TH TedF = T I16% T
1. HER®
2. HEEE
3. HETE
4. HETE

Options :



1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357523859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

i
TarsoT I8 F SEERw R —

1. §ER

2. Taesft

3. E"ET-?{_\E[T

4. 7T
Options :
1.1
2.2

3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 95335729716
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357523860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T FR T et % e % S v AT e i Tem v | et § § v W s S =)
1. ST ATHTES UHET 3 39 T § 35 )

2. UF STAT % ST T AT ST, S S0 A7 ST T FA A=A

3. Tereartirat = fouTes o & A fafarss 0 & STHEET TR T 94T 59 ITATtEt va 39 JTdr-fuar & /g
T T

4. ¥ITHT 3 3TV 5 Jhg 7T a1 A 2 e Fell 1 U6 T8 %14 % B9 3 &7 F9

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 953357523860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTATEE T W RTATET 3 AT % G U WIS R e Y § ey § § U W S &7 =]
1. ST FTHTES UET 3 39 - § &5 7]

2. T ST % ST F TAT T, S I A ST e e H wwr

3. Taretfeiat o foouTes o o o e oiert & SeprT Ueplaa weaT 99T 39 feranteEt v 3we grar-fuar g
TS T

4, ¥ITST 3 STETH H FTg 7T SHTeaT & 2 Waied Fefl F14 UF 8 FE o w9 F a9 Fr &

Options :

1.1

2.2

3.3
4.4



Question Number : 107 Question Id : 953357523861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= U I U | AT WISTSTT 3 3T 3 1Y Foamers F 317 8| UeF § S77HeF WTSTeT! 37 19 sr== i 9e7aaT T
2.
. 37 WTuTeAf UF U fawat @ eman & e 1
2. Tz = ife-FaTst v o1 St g
3. o7 Tammielat % =g 7 ST27 99T SaeTeie B g
. e > e . =
4. #ATereR 37k OTH F0 o Toro 3= et o fafo S |
Options :
1.1
2.2

3.3
4.4

Question Number : 107 Question Id : 953357523861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T==] UeF 1 Ush § 21405 WIOT3T1 & T 3 @1y foamerg o &11a 2| v 9 aferss wrredt &1 5= s==1 1 98T war
z.

1. 3777 9TeTeT 07U Ty i eman § ohe o)

2. T % ifq-framstt v o= Heptaal & g9

3. 37 faranfefat 3 |Yr 7 T[e e e 2 5

4. 3TereR 379 I T o Toqu 3 wToTet st ferfu e )

Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 953357523862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 3 TermelT ot STt =61 S W, AT 6T faTtereR 7w qiea aw oAk weew foar -

1. == ATGETE &, FAIeT0 o Freal & ¢

2. ==t Ffeat we &, TA are 7 2 it geen o 3 9 ave T S E

3. T T AT T & ST I AT H A o

4. o TYTTeqeT o 0 5 39 9 T 1 J(eA1 O S TE G AN, FAF d q(edt AT F o0 qeed T2 T 7|
Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 953357523862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T 3 3 Terameff ot ift =t e W, e fr forfie o o gfeat ww o Heew T e
| 5= FUETE &, qEte 3 qieat w

2. ==t feat e €, vE Sre @ € it o T I se are A T i B

3. T Al AT T & ST A AT A HhaF o

4. v TTTerERT % FU H 39 9 WK i T[T T S T AT A, T T T AT F o weew T w8

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357523863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATATIEEEAT 3 SATET, T==! AT 3 WIS AHITE ST § §1ad 8| Uah T 7a7 3 = 5 -

|. 27099 U123 7 T0 7E | TS G0 58 3 ST § 3Tohel 96 a1 HAT F SAq1ehaT UF STawid (o0 &1 1 )
2. U UT3 TS ST (S 23 Tt & = o o e ofiT ==t w7 o 5

3. AT STIMEA S0 TG o oAU, TIeTes, i va S0 31 Tar 1)

4. SIS UE FHE F14 F {70 AT SAT0 11 o ST F WY a7 F 9|

Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 953357523863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST AR, T | 3 |1 FTHISF A ERaT o GREd 2| T=h HI9T {374 & &0 3 -

| 370 UT3 T 6 78 § TS §4T0 196 T ol § oThet 918 7207 T 5§ 2713697 UF aTa=a 160, &1 % 3]
2. THT UTS TS s o o - § = % o we o == iy 7 i e

3. TET H SAIIMHA S0 TG o A0, TIeTe, TN UE 2US 1 Tar )

4. ST v e 3 o Ao S AR 3 Wit o wre At #w aw
Options :
1.1
2.2

3.3
4.4

Question Number : 110 Question Id : 953357523864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WA T SEHTST ST B11 o TEHITTeRAT o 39 He Tl 29T 5 T@d 51 TTL(e Tt 0 agHTs! 41 F an F
ﬁmﬁ%ﬁﬁnﬁqmwwﬁﬁm%ﬂ
1.%%w%mﬁﬁwﬁwmm§m%mmﬁwwwmémaﬁ%m

2. =% 3T T AT AIGHTET, = O Fre =0 7 {6 e )

3. A & et TSt fererera & =t wut favatdat i ght e i wefared % e yaw S =)

4. Torerer, Tverieiat =t 3ot ¥t 3T THT 5 WIS A U A o T i AUT I (= e 2



Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357523864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IRET SHeaTs STl HaTe Bt 8| ST 3 39 HeW S H T 50 MU T W ST 5 F v
F—rm%ﬁaﬁtwaﬁ?mwwﬁmm?“
1.fmﬁmﬁmwﬁa%umﬁwmm§mﬁmwﬁwuumémaﬁ%m

T 3T T 3T WIS, =7 0T i1 =1re 7 o6 faame =)

3. e & e TSt Farerer Br =R e Rrafi w oy s i el TR T 7 =17ew)
4.m!%mﬁh}wmﬁmﬁwﬁmwwaﬁa%agmm?mmmmw%

Options :
1.1
2.2
3.3
4.4

E\J

Question Number : 111 Question Id : 953357523865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wTaT fare, WWEW%WWW?TH% FiTF -

B Wﬁmﬂﬂ:'ﬁ&ﬂmammmmw#wml
m.mﬁmmmwmamwwﬁwﬁmﬁmmmﬂ#%%
3. 39 TR 3 ST AT W ] U A i WA A & v HiE

4. 7= I o= ATk 379 UTH o AT ITqaiiTaT sl §aTET 2aT 2

Options :

1.1

2.2

3.3
4.4

Question Number : 111 Question Id : 953357523865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS feTeren, T T S S S/AEE R S Ee, =i -

|. T == U5 |1Y FE T A S ST S S e 9 B

2. 3T 13179 1 T4 7 a1 & T T8 SATATHA 1 JorT H Tedsh sheel W ST ST AT Fie 2
3. 39 TR STIYU AT & w05 ORI HETaaT e & v Hiw 1

4. T I ST AT S T F T TTaa T 3 SeTET 20T 2

Options :

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 953357523866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TS ST 7 A0 el O 9 &1 O 419 ST & 1oF Uok &== il W17 UG U §02H 5 Fi1E 5 @ 2| I8
T LT 2T T 2

1. o & Sy (fewpeptor)

2. forE 9 eqeqmar (femte)

3. T A7 27T A T erear (fesfae)
4. TeT F AT (%t—c.:tf&wl}
Options :

1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357523866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TF STSATYE T AU AT T ITH /A U ST AT £ 1 U = I UaA UF 6 § FeAE B w2 o

=T ST & TR

1. O 7 1A (Fewere o)

2. Torg F oqeqear (femmte)

3. ST AT ST A W 27eaT (fetaeam)

4. Uee T 23T (Tewiteemm)

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357523867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ffeias O O &9 91 F99, YT =1 O 35T 79 & ¥29 T T8 29
|. 3T, T O % 37 O 1 =T

= [ = . .t ¢ Y [t [
2. FATHAA =T AT TT3haT BH1 J1ET 99T 754 gmugmﬁnﬁmﬁ:r%ﬁ IS AT =2

3. ST, TaaTeTs ST FUT fSTequr-STIenTs UTshaT 3 oy I9maTeTd et Sy
4. AT, T9 H U T AT T =)

Options :

1.1

2.2

3.3
4.4

Question Number : 113 Question Id : 953357523867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



frAfeTias § O 1 |1 FY, TYTHF T8 T ST 9 F 5eY § 98 29

. 3T, Tedeh O o 3d o T =1t

2. ST T AT AT BT =1TET F21 757 5T T ST F U5 WY & A ST =)
3. ATRe, TEraTera AT T STeur- AT UiRaT % Wy SEEtee gy =

4. AATFE, IY H UF TR ATA FAT =120

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 953357523868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TeATeArEa & & 277 T TS T el B SRTIIe W= & ¥ F W A 87
1. UT3T T

ng%?r

3, FETER.OT

4.@3@

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 953357523868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬁm%%ﬁﬁ%w%ﬁrwﬁm%@mmﬂﬁ%mﬁﬁﬁwm?%ﬁ
1. U137 T

zmgﬁ?ﬁﬂ

3. GHTEE-UT

4.@53%%

Options :

1.1

2.2

3.3
4.4

Question Number : 115 Question Id : 953357523869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTHT SATERTE 3 9T ATt TR e & g 0 9 U
: Weﬁ%ﬂﬂﬁdu%ﬁmugmt%ﬁmﬁﬁ

3. Toreft oft e it et = < R #

4. |t BT AU w2 =R

Options :
1.1

[



2.2
3.3
4.4

Question Number : 115 Question Id : 953357523869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AR F R e T s F A e e TE
2. | AT e M{lgﬂit%ﬁmﬁm

3. Toreft oft e it et = < R #
4. I Y qUT ifEg B =
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357523870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTHT T 24T 2 5

|. F= I S F T v s

0. F=9 I TSR 97 5 15971 I 2

= 3 Y

3. §= T AT F FAI e 2

4. F==IT ToFT F=ET S99 F 9TST A= AT 2
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 953357523870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTHT 275 =T & 76
|. == ! ST T 9 TET 1T 3
F= T TSR 97 58 eaT ST B
= o o e
3. F= I 9IS F AT 5 2

4. == o WA ST 3 WTNT HE0T AT B
Options :
1.1
2.2
3.3
4.4

(=)

Question Number : 117 Question Id : 953357523871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTHT 3 IeqTEF HI9T &
|. U FUT =G
2. UST FUT 4T
3. I a9T S EA

4, A G497 A0
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357523871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTHT 3 IeATEF HIT &
|. U FUT =G
2. TS FUT HS
3. A U7 EEA

4, IT=A T4 4990
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357523872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gt w== 37 Attt gRT e B E-
(i)  TSehr TT=TT 92k T &1 ST 2
(i) T T o= 3T e ST 2
(iii) < = o fem, 23edgut 2t 2
(iv) T eTeaTaeht 3 form svehqut = el 2

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 953357523872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt == 39 Tratareat gRT AU B -
(i)  TSeht AT S9%F 3T &S ST 2
(i) ot grs or==t gy ==TE S 2
(iii) S === 3 orm, arei @t 2
(iv) i T=aTTeR o foqe e7edaut et 2|

Options :

1.1



2.2
3.3
4.4

Question Number : 119 Question Id : 953357523873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= 5 =, = > h' ) iy i gy
TaaTsT sr==r = 1 TS ST AT S TR W AT G H6E 0T U W61 3 S16a1 1 WANT F 6, Feerdl o-
’ n
(1) HEhe - Faol
v s, [
(i) weha- ofee e
(iii) STEATSaAT
(iv) TATER
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357523873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= . =, Y > b’ . " n )

TeaTeT St 2T 37 TS ST AT S R § ST S §9E T T W] 3 Y6RT 3 TANT A ©, FEed -

(i)  Ed- FE=mT

(i) ¥epq- fEfem wn

(iii) SEWTTSAT

(iv) TAATER

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357523874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tl 3 <1y % =TTt % foT0 SU=T T ST STelT TR AT TSR o A R
(i) =l
(i) Sr=E
(i) TR AT fawE w=
(iv) 39 o STt
Options :
1.1
2.2

3.3
4.4

Question Number : 120 Question Id : 953357523874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TaranfifaT = wtfenm % ATt o ToT0 S 1 ST aTel! TR AT R B
(i) ==
(i)  fr= &
(iii) TR A7 fargd S
(iv) 77 Terfeor 5o

Options :

1.1

2.2

3.3

4.4

Language 11

Section Id : 95335716183
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335729717
Question Shuffling Allowed : Yes

Question Id : 953357523875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



AT TSR A, 39 39 TS o: W g awTeedur (Language-1T)
feram |

- P + [ *
AefoTRad eyl ufgen agraniadsmaT fosmearmesay stadaaas 3w
forea |

FHATYE T FT=g 51 FHaars & | T6: TF: 09 T | FR=g I51 &0
ST | = sty Sugere ey gt | o T Iwadl- T
AN AR, WA, T T fowg =, A I | T W] T 3
TAEH, | AEEE AN, | T 7 == (e T8 fq e | 391 7
T ST FoSIpaad! | 76 T |1 T Sy S| OF: FRI=g 21 e
AT T SaT gEad! |

TG |1 T T2 - e VAT Haa FY Tewad, s 2 T,
AT ? 31T | T SHA - <A AR, o Wt i S e ST,
Shad! ST, | T5 FLE SETEHE 79 T fomR: e 9 misenee-ana |
Fea: Toraelt e, AT TI1 | T & Je: Teh 7 T, QY o aaT
A T 3 | <7 e e e e W g At Ja S @ 3
T TS, 31 | ST: A IR hfewg O STeHd eRteaaT | 79 ThaTE:
T | OF T A T SeE e $1 [T e et JIg: T, ST
SATTEH: | T ST e | a1 T3 STt |

Sub questions

Question Number : 121 Question Id : 953357523876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

73T fore Tt 2
1. Fegs= == |

2. AHFE = |
3. STy == |

4. BT
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357523877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



(]

4. Y
N

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 953357523878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T A %Y S 2
1. i
2. =g

;. SIGE )
4. TRSSEg

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357523879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 31 U T e -

1. =9
2. 91
WD

3. ¥
4. ITHF

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357523880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o e 3T O e 2
T T
w3 = "~
T WA
T WA,

4. T =g

w3 w2 .

Options :
1.1

| S I

LS



2.2
3.3
4.4

Question Number : 126 Question Id : 953357523881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST 31 U T ffE: Tg 2
1. Tl

THT
3. |9t
4. g=ET

Options :
1.1
2.2
3.3
4.4

]

Question Number : 127 Question Id : 953357523882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=g T =T aﬁsaej:rhud Terear fora -
1. TTagar

11

4, 3thddl
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357523883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. ot
2. St
3. o

~

4. HMEr
Options :
1.1
2.2
3.3
4.4

Question Id : 953357523875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



AT TSR A, 39 39 TS o: W g awTeedur (Language-1T)
feram |

- P + [ *
AefoTRad eyl ufgen agraniadsmaT fosmearmesay stadaaas 3w
forea |

FHATYE T FT=g 51 FHaars & | T6: TF: 09 T | FR=g I51 &0
ST | = sty Sugere ey gt | o T Iwadl- T
AN AR, WA, T T fowg =, A I | T W] T 3
TAEH, | AEEE AN, | T 7 == (e T8 fq e | 391 7
T ST FoSIpaad! | 76 T |1 T Sy S| OF: FRI=g 21 e
AT T SaT gEad! |

TG |1 T T2 - e VAT Haa FY Tewad, s 2 T,
AT ? 31T | T SHA - <A AR, o Wt i S e ST,
Shad! ST, | T5 FLE SETEHE 79 T fomR: e 9 misenee-ana |
Fea: Toraelt e, AT TI1 | T & Je: Teh 7 T, QY o aaT
A T 3 | <7 e e e e W g At Ja S @ 3
T TS, 31 | ST: A IR hfewg O STeHd eRteaaT | 79 ThaTE:
T | OF T A T SeE e $1 [T e et JIg: T, ST

SATTEH: | T ST e | a1 T3 STt |

Sub questions

Question Number : 121 Question Id : 953357523876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a1 fore Tt 2
1. Fegs= == |

2. ATHFE T |
3. STy == |

4. BRET|
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357523877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



(]

4. Y
N

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 953357523878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T A %Y S 2
1. i
2. =g

;. SIGE )
4. TRSSEg

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357523879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 31 U T e -

1. =9
2. 91
WD

3. ¥
4. ITHF

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357523880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o e 3T O e 2
T T
w3 = "~
T WA
T WA,

4. T =g

w3 w2 .

Options :
1.1

| S I

LS



2.2
3.3
4.4

Question Number : 126 Question Id : 953357523881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST 31 U T ffE: Tg 2

1. T

THT
3. |9t
4. g=ET

Options :
1.1
2.2
3.3
4.4

]

Question Number : 127 Question Id : 953357523882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=g T =T aﬁsaej:rhud Terear fora -
1. TTagar

11

4, 3thddl
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357523883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. ot
2. St
3. o

~

4, HET
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335729718
Question Shuffling Allowed : Yes

Question Id : 953357523884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



= o |
T FEH: AT R 9E T aAee s | Jh
AT faEEE WA - UHUEUYEd | HEewd faEne sl
SATFETET | | = 3o 37%adq | T6: e a1 5@ & 31 A
Eaﬂ'ﬂj Iﬁmﬁlﬁ: EE&: ﬁl’m" Rﬁﬁhmﬂﬁﬁ% =3
T 8T BT &= e S
T FASAHGACF AT FEAIE |

SN *3TF: SRR Eeag TUHT eI | Fa: THiE: FoE
i UTH: | TY: SHidw a7 fafe: SThmTamar seema=s, -

7! forg T FeE | 7 T e A I e e 0o
=i fafeear @ W@Wﬁt%ﬁ:aﬁmﬁﬂﬁmaﬁq

2
[

HE-HI sTrFEET T AT feAfgar | |97 < aeH R EETETT
wm%ﬁm|

Wmmmﬁmﬁr T AT TITESHI
Al | A FTe AT ﬁ?-r AT | HTTEE:, WITHR:,
TATAT, ETAT, SR AT A a‘la-—mwrﬁr aﬁhﬂ?r
H%fﬁ'—lﬂ?m’%..ﬁémwa AT ST |

Sub questions

Question Number : 129 Question Id : 953357523885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TSR

3. UEOTERE
4, FHETEE
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 953357523886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. A
. Af=om

3. ST

4. TR

| ]

Options :
1.1
2.2
3.3



4.4

Question Number : 131 Question Id : 953357523887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

l. =T
%ﬁ-‘l’ :

4, FEFAT
Options :
1.1
2.2
3.3
4.4

[

L)

Question Number : 132 Question Id : 953357523888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AEMIDE ﬁu%ug?ﬁ: FEATAT: -

114

G
GO
4

S
4

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357523889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ui 3T BRATIE W T 2
1: _&‘."FIE\—W:
2. G-I
3. °E-ARR

4. TETH

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357523890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357523891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3fa wmufael veg 1l 2
|. 37=ZFUey
2. TSI

3. Tramuey
4. famoraeg

Options :
1.1
2.2
3.3
4.4

Question Id : 953357523884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



= o |
T FEH: AT R 9E T aAee s | Jh
AT faEEE WA - UHUEUYEd | HEewd faEne sl
SATFETET | | = 3o 37%adq | T6: e a1 5@ & 31 A
Eaﬂ'ﬂj Iﬁmﬁlﬁ: EE&: ﬁl’m" Rﬁﬁhmﬂﬁﬁ% =3
T 8T BT &= e S
T FASAHGACF AT FEAIE |

SN *3TF: SRR Eeag TUHT eI | Fa: THiE: FoE
i UTH: | TY: SHidw a7 fafe: SThmTamar seema=s, -

7! forg T FeE | 7 T e A I e e 0o
=i fafeear @ W@Wﬁt%ﬁ:aﬁmﬁﬂﬁmaﬁq

2
[

HE-HI sTrFEET T AT feAfgar | |97 < aeH R EETETT
wm%ﬁm|

Wmmmﬁmﬁr T AT TITESHI
Al | A FTe AT ﬁ?-r AT | HTTEE:, WITHR:,
TATAT, ETAT, SR AT A a‘la-—mwrﬁr aﬁhﬂ?r
H%fﬁ'—lﬂ?m’%..ﬁémwa AT ST |

Sub questions

Question Number : 129 Question Id : 953357523885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TSR

3. UHOTEEE
4. FHETTE
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 953357523886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. A
. Afe=om

3. ST

4. TR

]

Options :
1.1
2.2
3.3



4.4

Question Number : 131 Question Id : 953357523887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

l. =T
%ﬁ-‘l’ :

4, FEFAT
Options :
1.1
2.2
3.3
4.4

[

L)

Question Number : 132 Question Id : 953357523888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 0% T FEAdead: -

114

G
GO
4

S
&

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357523889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ui 3T BRATIE W T 2
1: _&‘."FIE\—W:
2. G-I
3. °E-ARR

4. TETH

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357523890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357523891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3T AT Ueg @At 2

1
2. go«a”qaq

%

4. famoraeg

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335729719
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357523892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR FeTeRgay : ot watereT ot 2

. WTSURRTE U o BT: W |
. T T8 AU Ry e 97 o O o T F: |
3. DI TEAT WA FRA T FOE |

]

4. ATIF FAcTq \Wﬁﬁgﬁ%&&ﬂ;ﬂhmmw i \mgﬁmmmwy TR
|
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357523892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ST T tengay &: fafr: wateper a1 2
. WTSUTRTE TS o7 ST WO |
. TN T AU Ry Feead 77 o I T 7 5 |
3. TR LT WU FEAT F FO(E |
4. FAATFET Friea] A T @ T oI FATG ATE THT AT TaT LT &5 TIE Freall T7: ST
|
Options :
1.1
2.2

3.3
4.4

[

Question Number : 137 Question Id : 953357523893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT TRTEFEY ST WIHe T2 TAT: Fried: | TeahIad WA Nieararag (erenaay &: fafr: 7
T @7 2
|, “TSTET: ST ST |
2. WEHITEHe TeaTR = |
3. ITEEET S=AROEA |
4. T TEEISAT ST ST |
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 953357523893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATHT TRTAFEY ST FHe T2 TATT: Fefed: | TeashIene T MieaTe g (e rengay &: fafr: 7
T @t 2
. WTSTET: ST ST |
2. HEWITHe TRt = |
3. IEEET =N |
4. T TS ST ST |
Options :
1.1
2.2

3.3
4.4

Question Number : 138 Question Id : 953357523894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



HTHTISTEAUR ST DT ST : TR ST Hieae STT9ard 7a:-
. TS Tereere Ua e 7 9aif |
3. ST TENTHT S ST T foraer v tfeeyt 7 e |
4. = T =TSt e T |

Options :

1.1

2.2

3.3
4.4

[

Question Number : 138 Question Id : 953357523894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

THTRTATTE STl DT e : TITHTET: ST Hieae AT 7a:-
| TS e Uas w7 i |
3. T ST ST ¥: T fererer e oyt 7 v |
4. ¥ faeme =Tt Fie 5 |

Options :

1.1

2.2

3.3
4.4

]

Question Number : 139 Question Id : 953357523895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST EREF R TS Hare: & -
I, UgaE ST ST T ST AT |
2. aﬁﬁiﬁ:(Dictation}
3. FATTHANT #RE |
4, FRTEERGT T |

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357523895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

mmwﬁm Taer 34'%!'_
. UTEAUETERE ST SATHA] ST STeaT SR |
2. p:1_7?!?:1'-'@:([Ilicta‘[ion]
3. AT T |
4, GG e |

Options :
1.1



2.2
3.3
4.4

Question Number : 140 Question Id : 953357523896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357523896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS SHETERT: TeT: WTETISTE0T oo Tr=Te STRE|
1. FTateTITET

3. fAeToTesETaT

4. yrEgfERET

Options :
1.1
2.2
3.3
4.4

]

Question Number : 141 Question Id : 953357523897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TSR TeaTg T STy [ S0 ?

. FUETE- AT
2. Temte-fomamt Iy

3. UB-IEEET

4. YSTHRI-FETEAT
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357523897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T - TS Teag T STy [ S0 ?

. FOHTAT- AT
2. Tarmte-femamt I

3. UTS-STFETTH

4. USTIRT-ETEAT
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357523898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TSI WTETEETS SR FaT AT —
. FPrTRTHTIE SToT fo7eqor |

. TSI - SR |
3. TEANTICE HISTITET |
4, TATETeH WIS |

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 142 Question Id : 953357523898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T UETT: AT &llulhtwramlga FATITAT —
| ST STHT foTeqory |
2. TSR -6 |
3. FEANTICE HISTTEv |
4. HETETEE HTTRTE |
Options :
1.1
2.2

3.3
4.4

Question Number : 143 Question Id : 953357523899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SAARGAY AT SATAES T T 7 4t 2
. HTGHTSTITET SreTeas |
2. STHTS HEw=ay |
3. TN SIS e |
4. TATOTT TRTIETES WTSTIART Sehau |

Options :
1.1



2.2
3.3
4.4

Question Number : 143 Question Id : 953357523899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AARGAY AT TS T 7 4t 2
. ATGHTETITET SraTaas |
2. ST FETE |
3. TET SETERETETEEA |
4. BTATOTT TRTIETES MTSTONT ST |
Options :
1.1
2.2

3.3
4.4

Question Number : 144 Question Id : 953357523900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SANANGAY 1o TTF IS : FTETeH Wt 2
. WIETIATE-Faw U
2. RS SYA:
3. Wﬁmﬁﬁw
4. a‘lwﬁwm-—rm&m

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357523900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SATARGY T3 TTF-TSHITIT: FTET=F e 2
1. WTETIETE-Faed STamT:

3 Wmﬁﬁmﬂn

4, EIW&'IFWHT‘E?T&TUW

Options :
1.1
2.2
3.3
4.4

Ed

Question Number : 145 Question Id : 953357523901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



|. To=TT STTReT B TS 9150 J8aTy |

2. HEE TS |

3. DT ETEAYEE At FEeATE ST |IETe W o |
4, Hoﬂﬂﬂl&imﬁdmmﬂﬁwml

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357523901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. FSETHT ST BT TS ATed TeeT |
2. T TR |
3 mmwwm#ﬁm

4, HO-'CI‘-HI 3-11=P‘af“1"| F.?I’HIUII !'1!\31'1'{"-4 “C*‘qﬁll("lch'-! FHT=he1H |

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357523902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. STEIT FTeqT, = T, FaT Tfer oF: g, STg it 1 417 |
2. v o 91 e o st |

3. TS S g = fehfowrm et amatag |

4. T ATH |

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357523902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. ALV IEET = AT, TaT T o T, ST a1 e |
2. v v 991 o o7 At |

3. TS TG ST = fohfow et At |

4. TR ATFET |

Options :
1.1



2.2
3.3
4.4

Question Number : 147 Question Id : 953357523903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. Wﬂﬁ%ﬂ%‘@%l
2. AT SEE Hiaw |
3. FHY 9T T S |
4. TTER ST Wi |

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 953357523903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I WWH‘%;\Wﬂ%‘E‘%I
2. AT S Wi |
3. FHY HE T FAEE |
4. TTER ST Wi |

Options :

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 953357523904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. WA T |
. SEATEET W, |
3. YUTEET FUTTERINT W |
4. @ﬁ%ﬂr\?ﬂﬁmﬁ'ﬂl

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 148 Question Id : 953357523904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



SATRTUATTFRTAIT -
. TR g |
2. AT W |
3 uvmm‘o-crmmﬁﬁmatrt
4. mﬁ%ﬂﬁruﬁal

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357523905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T 7S] ST e T A WA ST A 7 v |
. T HE TSI S W ST o S e ST A Far |
3. STSTA: ST ) A AT QA AR |

| ]

4. Tﬂmgﬁéﬁ?@ (Positive reinforcement) IEUTEEUTT STAT: HTSTET: ﬂﬁﬂﬁ;ﬁf% |
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357523905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =T IR ST A T A WA ST A 7 W |
3. WTSTAT: STV ] A A1 HHEET, 37 |

]

4. Wgﬂéﬂw (Positive reinforcement) SEATEEY0T STEAT: HTSTT: a@nm;wf% |
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357523906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT A= T BT ST SR siad e -
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